Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bimqo

Linear Functions Biv]@o

y-int +
y=-X X-int + x=-1 slope =% y=X
(no #s)
x-int=5 slope =4 slope =-3 x-int=2.5 [slope=-1/5
y-int=-8 y-int=4 [FREE SPACE| slope =2 y-int=-5
y-int + y-int -
X-int - X-int + X-int =3 y-int =3 y=5
(no #s) (no #s)
y-int -
slope=2 | y-int=-10 X-int - y=-3 x=7
(no #s)
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x=7 y-int=4 x-int=2.5 slope =4 y-int=-5
y= X slope =%2 y=-3 slope =-1/5 x=-1
y-int +
x-int - slope=2 |FREE SPACE y=5 y-int=-8
(no #s)
y-int - y-int -
X-int + y-int =3 X-int - slope =Y y=X
(no #s) (no #s)
y-int +
X-int =5 X-int + slope =-3 X-int =3 y-int=-10
(no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

X=7 y-int=4 [slope=-1/5| y-int=-5 x-int =3
y-int + y-int + y-int -
X-int - x-int + y-int =3 x-int + y=5
(no #s) (no #s) (no #s)
x-int=5 y-int=-8 | FREE SPACE y=-3 y= X
y-int-
x=-1 X-int=2.5 slope =% X-int- y-int=-10
(no #s)
y=X slope = slope =2 slope =4 slope =-3
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X-int =5 y-int=-10 y=X S[ope =3 slope ="
y= X x=7 x-int=2.5 x-int =3 x=-1
y-int-
y-int =3 y=-3 FREE SPACE X-int - slope =2
(no #s)
y-int + y-int +
y-int=-5 x-int- X-int + slope=-1/5| slope =4
(no #s) (no #s)
y-int -
slope =2 X-int + y-int =4 y-int=-8 y=5
(no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int+
y-int =3 y-int=-8 x-int + y=5 x-int=2.5
(no #s)
x=-1 slope=4 |[slope=-1/5 y=X X-int =3
y-int-
slope =% y-int=4 [FREE SPACE| y-int=-10 x-int -
(no #s)
y-int -
x-int + x=7 x-int =5 y=-3 slope =-3
(no #s)
y-int+
y= X slope =2 X-int- slope =2 y-int=-5
(no #s)

y-int -
x=-1 slope=-1/5 X-int + y-int=-8 X-int=2.5
(no #s)
y-int-
x-int- y=X slope =4 x-int =5 slope =72
(no #s)
y-int +
y-int=-5 y=5 FREE SPACE| slope=-3 X-int +
(no #s)
y-int=4 y=-X y-int=-10 x=7 slope =%
y-int +
y=-3 x-int- y-int =3 slope =2 X-int =3
(no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y=5 y-int=-5 slope =-3 y=-3 slope =4
y-int -
X-int + y =X X-int =5 x-int =3 y=-X
(no #s)
y-int+
y-int=-8 y-int=3 |FREE SPACE x-int + slope =%2
(no #s)
y-int+
x=7 slope =2 X-int=2.5 x-int- slope =%
(no #s)
y-int -
x=-1 X-int- y-int =4 y-int=-10 [slope=-1/5
(no #s)

tentotwelvemath.com/interactive, Copyright © 2024 Lee Fisher

y-int +

y=5 X-int - y-int=-10 slope =4 y=X
(no #s)

y-int + y-int -

y-int =3 slope =" y= X X-int + X-int -

(no #s) (no #s)

y-int -

y-int =4 y=-3 FREE SPACE x=7 x-int +

(no #s)

y-int=-5 x-int =5 x-int =3 slope=-3 | x-int=2.5
slope =% [slope=-1/5| slope=2 y-int=-8 x=-1




Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int+
y-int=-8 y= X x-int + y-int =4 y=5
(no #s)
y-int -
y-int=-5 |slope=-1/5| slope =% y-int =3 X-int +
(no #s)
y-int-
x-int=2.5 y=-3 FREE SPACE y=X x-int-
(no #s)
y-int+
x-int =5 slope =-3 x-int =3 X-int- y-int=-10
(no #s)
x=-1 slope =4 slope =2 x=7 slope =%

y-int -
x-int=3 y-int =3 x-int + slope =4 y= X
(no #s)
y-int + y-int-
slope =4 y-int=-10 X-int— slope =% x-int-
(no #s) (no #s)
y=5 slope =-3 |FREE SPACE|slope=-1/5| y-int=-8
y-int +
x-int=2.5 y-int=-5 x-int + slope =2 x=7
(no #s)
y=-3 y=X x-int =5 x=-1 y-int=4
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bimqo Linear Functions B’M@o

y-int +
slope=-3 [ y-int=-10 [ vy-int=-5 y=-3 y=X x-int =3 y-int=-5 x-int =5 slope =% x-int -
(no #s)
x=-1 x-int=2.5 y-int =4 x=7 x-int =5 y= X x=-1 y=-3 y=5 y-int=-10
y-int + y-int+
slope =-1/5 X-int - FREE SPACE| slope =2 slope =4 X-int =2.5 y-int=4 | FREE SPACE X-int + slope =2
(no #s) (no #s)
y-int + y-int - y-int- y-int -
X-int + y-int=-8 X-int + X-int- slope =2 slope =-3 x-int- x=7 y =X slope =%
(no #s) (no #s) (no #s) (no #s)
y-int -
y=5 y=-X y-int =3 slope =% x-int =3 y-int=-8 y-int =3 slope=4 |slope=-1/5 x-int +
(no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int+
y-int=-10 y=-3 X-int + slope =% slope ='%2
(no #s)

X-int =5 X-int=2.5 y-int=3 x=7 y=-X
slope =2 y =X FREE SPACE| slope=4 slope =-3
y-int - y-int + y-int-
y-int=4 X-int + X-int - X-int - y-int=-8
(no #s) (no #s) (no #s)
x-int=3 slope=-1/5 y=5 x=-1 y-int=-5

y-int +
y=X x-int - y-int=4 slope =4 y=-3
(no #s)
y-int +
slope =-3 slope =2 |slope=-1/5 x-int + slope =2
(no #s)
x=7 x=-1 FREE SPACE| y-int=-8 y-int =3
y-int - y-int -
y-int=-5 y= X x-int- X-int =5 x-int +
(no #s) (no #s)
y=5 X-int =3 y-int=-10 | x-int=2.5 slope =%
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int+
y= X x=-1 y-int=-8 X-int- slope =2
(no #s)
y-int=3 y =X x-int=5 x=7 y-int=-10
y-int -
x-int + y-int=4 |FREE SPACE| slope=-3 y-int=-5
(no #s)
y-int- y-int +
slope =2 X-int - X-int + y=-3 x-int=2.5
(no #s) (no #s)
SlOpe =4 Slope =1 y=5 Slope=—1/5 X-int =3

y-int +
y=X slope =2 X-int=2.5 y-int=-8 X-int -
(no #s)
y= =X slope =2 slope =-3 x=-1 slope =%
y-int-
X-int - y-int=3 [FREE SPACE x=7 slope=-1/5
(no #s)
slope =4 y=-3 x-int =5 y-int =4 y-int=-5
y-int - y-int +
y-int=-10 y=5 x-int + x-int=3 x-int +
(no #s) (no #s)

tentotwelvemath.com/interactive, Copyright © 2024 Lee Fisher
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int -
y-int =4 X-int + slope =-3 |slope=-1/5( y-int=-8
(no #s)
y-int+
X-int + slope =2 x-int =5 X=7 y-int=-5
(no #s)
y-int+ y-int -
y=-3 y=X FREE SPACE X-int - X-int -
(no #s) (no #s)
slope =2 y=-X slope=4 | y-int=-10 x-int =3
x=-1 y-int=3 | slope=% | x-int=2.5 y=5

tentotwelvemath.com/interactive, Copyright © 2024 Lee Fisher

y-int=-10 | x-int=2.5 y-int=-8 y=5 y-int=-5
y-int -
x-int + x=-1 slope =4 x=7 y=X
(no #s)
y-int +
x-int =5 slope =-3 |FREE SPACE x-int- y=-X
(no #s)
y-int- y-int +
x-int- y=-3 X-int + slope=-1/5| slope =%
(no #s) (no #s)
X-int=3 slope =2 y-int=3 y-int=4 slope =2

Page9




Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int+
slope=4 | x-int=2.5 | slope =% y-int=3 X-int-
(no #s)
y-int+
X-int + slope =% | slope=-1/5 y=X slope =2
(no #s)
y-int -
x-int + slope =-3 |FREE SPACE x=-1 y=-3
(no #s)
y-int -
X-int- y-int=-8 y-int=-5 y-int=-10 y= =X
(no #s)
X-int =3 y=5 x=7 X-int =5 y-int =4

tentotwelvemath.com/interactive, Copyright © 2024 Lee Fisher

X=7 slope=-1/5| y-int=3 x-int=3 slope =4
y-int-
y=-3 X-int=2.5 X-int— y= X slope =-3
(no #s)
y-int - y-int +
Yy =X x-int=5 | FREE SPACE X-int + X-int +
(no #s) (no #s)
y-int=-5 x=-1 y-int=-8 y=5 slope =-
y-int +
slope =4 y-int =4 y-int=-10 X-int - slope =2
(no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int -
y=X slope =-1/5 x=7 x=-1 x-int +
(no #s)
y-int+
y-int=-5 y= X X-int + x-int=5 y-int=4
(no #s)
X-int =3 slope=2 |[FREE SPACE| slope=4 slope =-3
y-int -
slope ='2 y=-3 x-int- y=5 X-int=2.5
(no #s)
y-int+
y-int=-10 slope =% y-int=-8 x-int- y-int =3
(no #s)

tentotwelvemath.com/interactive, Copyright © 2024 Lee Fisher

y=X y-int=-10 | slope=-3 y-int=-8 y-int=-5
slope=% | slope=2 x=-1 y-int =3 y= X
y-int-
y-int =4 X-int- FREE SPACE y=5 x-int =5
(no #s)
y-int +
slope =4 X-int - slope =%2 x-int=2.5 x-int =3
(no #s)
y-int + y-int -
X-int + slope =-1/5 X=7 x-int + y=-3
(no #s) (no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

x-int =3 y-int=3 slope=2 |slope=-1/5 y=-3
y-int+
x-int + y=5 slope =% x=-1 slope =-3
(no #s)
y-int+
x=7 X-int - FREE SPACE| slope =4 y-int =4
(no #s)
y= X slope =2 x-int =2.5 y=X X-int =5
y-int- y-int -
y-int=-5 y-int=-10 X-int- y-int =-8 X-int +
(no #s) (no #s)

y-int-
y=5 slope =2 X-int - y-int =4 x=-1
(no #s)
x=7 y= X x-int=2.5 [ y-int=-5 y=X
slope =-3 y=-3 |FREESPACE| slope=4 | y-int=-10
y-int -
slope=-1/5| x-int+ x-int =5 slope =2 slope =%
(no #s)
y-int + y-int +
X-int =3 y-int=3 X-int— y-int=-8 X-int +
(no #s) (no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y=-3 slope='2 |slope=-1/5 x=-1 y-int=-10
y-int=3 X-int=2.5 y-int=4 x=7 y=X
y-int=-5 y=-X FREE SPACE| slope =4 slope =%
y-int + y-int- y-int +
x-int =3 x-int =5 x-int - x-int - X-int +
(no #s) (no #s) (no #s)
y-int -
y=5 slope =-3 x-int + y-int=-8 slope =2
(no #s)
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y-int +
y= X slope=-1/5 X-int - y-int=-10 slope =2
(no #s)
y-int -
y=X x-int=2.5 x=-1 slope =4 x-int +
(no #s)
slope =-3 x=7 FREE SPACE| slope =2 y-int=-5
y-int +
y=5 y=-3 x-int + y-int=-8 slope =%
(no #s)
y-int-
x-int =5 x-int =3 X-int - y-int =4 y-int =3
(no #s)
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo

Linear Functions Bingo

y-int + y-int -
y=-X X-int + y=X X-int + X-int=2.5
(no #s) (no #s)
y-int-
y-int =4 x=7 x-int - x=-1 y=5
(no #s)
y-int=-10 | slope=2 |[FREESPACE| y=-3 x-int=5
y-int+
slope=-1/5| y-int=-5 slope =2 y-int =3 X-int-
(no #s)
slope=-3 | slope=% | slope=4 x-int =3 y-int=-8
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y-int + y-int +
y= X X-int — X-int + y-int=-10 X-int=5
(no #s) (no #s)
y-int -
x-int + x=-1 y=-3 slope =4 y-int =3
(no #s)
y-int -
x=7 y-int=-5 | FREE SPACE x-int- slope=-1/5
(no #s)
y-int=-8 Yy =X X-int=2.5 y=5 slope =-3
x-int =3 slope =4 y-int =4 slope =%2 slope =2
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Linear Functions: 30 cards, 24 items, set 2

Linear Functions Bingo Linear Functions Bingo
y-int- y-int + y-int -
slope =-1/5| y-int=-5 slope =-3 X-int - slope =2 y =X X-int - x-int + slope =-3 y=5
(no #s) (no #s) (no #s)
y-int=-10 x=-1 y-int =3 x-int =3 slope =4 y-int =4 y-int=-8 [slope=-1/5 x=7 x=-1
y-int - y-int +
x=7 slope =%2 |FREE SPACE| x-int=2.5 x-int=5 X-int - slope =2 |FREESPACE| x-int+ y-int=-5
(no #s) (no #s)
y-int + y-int -
y-int =4 x-int + y=-3 x-int + y=X slope=4 | y-int=-10 x-int =5 y=-3 slope =2
(no #s) (no #s)
y-int+
slope =% x-int - y= X y=5 y-int=-8 x-int =2.5 slope =% y= X y-int =3 x-int =3
(no #s)
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Linear Functions: 30 cards, 24 items, set 2
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